Disc Ual - K46 - Clex S Bv\v(—iu«é

O Rawr wmwe w=2: y*-4< (2+4)1=6. Assvwe Q%< kkw()‘, Tlow
P = % ) (wra)! < (era) (k+4)T = (er2){

@ Base case wu=4 : 4.9 = 4 2%.1 V . Assuwe %i(i-\-rt): \g(k+»\).\k—\-z'
=1 3

let 4

W
\i, T(4) = Z1(1%4) + (k) (ur2) = ‘L"(ugmﬂ\"“"*")(‘“@ o
- i—-_‘ .

s (wed) (er2) (k)
: 3 21 64‘_ e.
@ Rase ease u=4 Ft+he - | = 64 \/ Assvwe # +lok-41= r‘f

7 ’“(‘“*)f (6 (1d) -1 = 4‘(.?“‘* 6w + (S = '47 (e4v,—\6k+4)+\eu+|5
- o4& (49 -12w ) |
®) Base coses @ f(4)= 2 5% 6=F  £l)- 2-SM¢g=de V
kssowe (i) - LS"’H@_ . P al feizelk. Mou
flerd) = 60(u) - S f(u-4) =6 (1'5“"+9)‘§(2‘§u~2+6):
I I VA PR LS DEE R B 3
) 7904165 + 432 , 165=4-422 x 32, {32= 4.33+0
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® False . Tale m=l,u=3 T~ f&cd (wu) < %cg(z,:g)=¢.
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